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MANAGEMENT ACCOUNTING
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Time — Three hours

The ﬁgures in the margm indicate full marks
for thie= questmns

3 l (a) Answer the followmg as dlrected
- 1><10 10

(1) The mformatmn in the management
accountmg system is used for purposes

- like measurement, control and decision
‘making, (State’ whethef,{tme or’ false.) '

(n) The excess of the actua sales revenue :
(ASR) over the break even sales revenue .
(BESR) is known as the margin of =
safety (State Whether true or false) '

(111) Sales minus vanable cost 1s known as
. (Fill in the ’blank.) :




, (iv) A budget is a comprehensive

(viii) The level of act1v1ty at which ther

(ix) Standard costing uses standards for @

\

budget should cover a definite s
| defined period for future. (State

co-ordinated plan, expressed in finang
I ther the statement is true or false) .

~ terms for the operations and reso I
of an enterprise for some spe01 i
period in the future. (State whether
statement is true or false.) 2

lef answers to the followmg in about
ords each : e 2x5=10

(v) Cash budget is prepared with the ite
having a bearing on cash flows, 1

- cash items such as depreciation |
excluded. (State whether the statem

~is true or false.) S

Mate the mean-ingfof budget.
State the meahing of varianc:e.' i
Vhat is marg‘yinalv cost 2.

, ‘ f‘ What is flexible budget ?
(vi) A ﬂe\(ible budget does not estimate ¢ 3 ' s a
at several levels of activity, it conta

only one estimate at one level. (r’
whether the statement is true or :

yge the meaning of S‘tarldard cost.- i

j otes o .
(vii) The margmal costing assumes that t A B . any f e followmg ;

is no limiting factor and there is no l
on the number of units of each prod
to be produced or sold. (State whetl ,
the statement is true or false.) 1 dget

" costmg Vs, budgetary control
m ]

'ven Bnalysisy 0
neither profit nor loss is known as e i e s
(F111 in the blank) & Ol management accountm_g, _
. of management accounting -
and revenues; and not for cont iy : L ‘
purpose. (State whether the stateme fons of standard costing.

. true or false) C ;v ‘

[ "

oy

o
"
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S The Shevlock Company produces three pro 1

A, B and C, the followmg are sHe o ull production in the period was only 60,000 |

: : L pare budgets for the orlgmal and rev1sed o “‘\
. _ i output ‘ |
- Product Sales (Rs.) Nariable cost (Rs.) Or |
AL LS008 e T 2000 3 i i
ki So00 PR e 8 the steps to be adopted for the installation
_ AE o L idgetary control system. .10
C 2,000 LS00 g : gl

Fixed cost Rs. 2200 i
mlk  manufacturing company whlch ‘has

{éd standard costmg furnishes the follow! ‘;1' sy

mation : : : 10

d:

Find out the break even pomt in rupee Value
comment on the results ;

byt

l for 70 kgs output ;
hed products = 100 kgs.

Describe the managerial uses of marginal vcosti"‘

4“_4." Isubu Tlles Ltd. has prepared the budget for k
productlon of 100,000 units for a costmg perl E ,
as given below o 1 al :  Output

¢ of material W = Re. 1‘1'331' kg,-f"v

2,10,000 ks

‘ o G Per unit Rs
- Raw materials g : 100
Direct labour 30
2 'Dlrect expenses xR s as D10
& Works overhead (60% . ﬁxed) | 10:00°

Material used e 2,80,000 kgs

Cost of material = Rs. 2,52,000

ilate (i) the mat'erial usage variance,

th terial
Administrative overhead (80% ﬁxed) 160 Wit dnr p s vanance and :
Lo Sales overhead (50% fixed) ?, g 70

(iii). the matenal cost varlance

; "10/4,(Sem.;)MNAc @ as é’ JL00 3800‘;_
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. 'Dlscuss its role in decision making process.

= u.,()r

(i) Show the differences between hist
’costing an‘d -standard cost'ing.

(n) Dlscuss the objectlves and uses of s‘ a1
costmg 5+5‘*

Explam the nature of management -accounti

Or L
Discuss the use of accounting mformatlon
use of computer for management purposes ]
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